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1. Introduction
Simulation results based on the ACIR simulation parameter Ad-hoc(AH02) agreement have decided ACIR requirements for power class4 (21dBm) terminal. Now we carried out ACIR simulation to determine ACIR requirement for power class3 (24dBm) terminal.

2. Capacity Loss Evaluation
The capacity loss is evaluated using the system simulator described in [2]. The simulator is compatible with the description in [1]. Parameter settings shown in Table 1 are used. Note that the dynamic range for power control of 68 dB is used for the maximum transmit power of 24dBm assuming that the minimum transmit power is unchanged even when the maximum transmit power is changed. The capacity loss for the maximum transmit power of 21dBm is evaluated as well for the reference use.

Table 1 Up-Link Simulation Parameters

MCL
70 dB

BS antenna gain
11 dBi

MS antenna gain
0 dBi

Log normal shadowing
Standard Deviation of 10 dB

# of snapshot
3000

Handover threshold
3 dB

Noise figure of BS receiver
5 dB

Thermal noise (NF included)
-103.16 dBm@3.84MHz

Max TX power of MS
21 dBm / 24 dBm

Power control dynamic range
65 dB / 68 dB

Cell radius
577 m (for both systems)

Inter-site distance
1000 m (for both systems)

BS offset between two systems (x, y)
Intermediate: (0.25 km, 0.14425 km) -> 0.289 km shift

Worst: (0.5 km, 0.2885 km) -> 0.577 km shift

User bit rate
8 kbps and 144kbps

Activity
100%

Target Eb/I0
6.1 dB (8kbps), 3.1dB?(144kbps)

ACIR
25 - 40 dB

3. Simulation Results and Conclusion

Figures 1 and 2 show the simulation results for the 8 kbps speech service and the 144 kbps data service, respectively. As is shown by these figures, the results for the maximum transmit power of 21 dBm and 24 dBm are very close or even identical. Based on these results, the ACIR requirements should be identical for both the 21 dBm and 24 dBm UEs. 

These results are consistent with the results presented in [3], for example, capacity loss of 30dB ACIR is almost 4% for speech service and a little under 2% for data service. Furthermore, for the speech service case, the data taken from [1] are also plotted in Fig. 1. Our results present very good agreement with these data to show that our simulator and results are consistent with the description in [1]. 
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Fig. 1: Simulation Result for 8 kbps Speech Service
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Fig. 2: Simulation Result for 144 kbps Data Service
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